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y. »ôÜæ ·¤ô ÚU´»Ùð ·Ô¤ çÜ° ·¤æÜæ/ÙèÜæ ÕæòÜ ÂðÙ ·¤æ ÂýØô» ·¤ÚUð´Ð

z. çÙ�ÙçÜç¹Ì ©ÎæãÚU‡æ Îð¹ð´ Ð
©ÎæãÚU‡æ
v. w® ¥õÚU vw ·¤æ ÁôÇ¸ ãôÌæ ãñ
(·¤) xw    (¹)    x}    (»)    xv    (ƒæ) xy
©ÂØéüQ¤ ÂýàÙ ·¤æ ©žæÚU (·¤) ãñ, çÁâð ¥ô°×¥æÚU ©žæÚU-Â˜æ·¤ ×ð´ 
çÙ�ÙçÜç¹Ì M¤Â ×ð´ ¥´ç·¤Ì ·¤ÚUð´Ñ
   v

{. ¥æÏæ ÚU´»æ ãé¥æ, ãË·Ô¤ M¤Â âð ¥´ç·¤Ì, »ôÜæ ×ð´ âãè Øæ »ÜÌ ·Ô¤ 
çÙàææÙ ·¤ô ¥æòçŒÅU·¤Ü S·ñ¤ÙÚU mæÚUæ §âð »ÜÌ ©žæÚU ·Ô¤ M¤Â ×ð´ ÂÉ¸æ 
Áæ°»æ ¥õÚU §âð »ÜÌ ×æÙæ Áæ°»æÐ

|. ÂÚUèÿææ ·¤ÿæ ÀôÇ¸Ùð âð ÂãÜð ÂýàÙÂ˜æ ÂéçSÌ·¤æ ¥õÚU ¥ô°×¥æÚU ©žæÚU 
ÂéçSÌ·¤æ ¥‹ßèÿæ·¤ ·¤ô ¥ßcØ âõ´Â Îð´Ð ÂéçSÌ·¤æ âð ·¤ô§ü Öè ÂëDïU 
È¤æÇ¸·¤ÚU ¥ÂÙð Âæâ Ùãè´ ÚU¹ð´Ð

}. ¥ô°×¥æÚU ©žæÚU Â˜æ·¤ ·¤ô âèÏæ ÚU¹ð´Ð §âð ×ôÇ¸ð´ ¥æçÎ Ùãè´Ð

~. âÖè ÂýàÙ ¥çÙßæØü ãñ´, ÂýˆØð·¤ ÂýàÙ °·¤ ¥´·¤ ·¤æ ãñÐ »ÜÌ ©žæÚU ·Ô¤ 
çÜ° ·¤ô§ü Öè ¥´·¤ ·¤æÅUð Ùãè´ Áæ°´»ðÐ

v®. ·ñ¤Ü·é¤ÜðÅUÚU/×ôÕæ§Ü/·¤ô§ü Öè §Üð€UÅþæòçÙ·¤ ×Î/ ¥æÂçžæÁÙ·¤ 
âæ×»ýè ·Ô¤ ÂýØô» ·¤è ¥Ùé×çÌ Ùãè´ ãñÐ

ÂÚUèÿææ çÙØ´˜æ·¤

(i) (ii)

b c d

Time : 1 Hours                                     Maximum Marks : 60

INSTRUCTIONS TO THE CANDIDATES

1.
Question Booklet and (ii) OMR Answer Sheet supplied 
separately; and also put his/her signature at the places 
provided for the purpose.

2. This Question Booklet consists of this cover page, and a 
total 60 Items. Use blank pages available at the end of 
Question Booklet for rough work.

3. There are four alternative answers to each item marked as 
(a), (b), (c) and (d). The candidate will select one of the 
answers that is considered to be correct by him/her. He/ 
She will mark the answer considered to be correct by filling 
the circle.

4. Use black/blue point pen to darken the circle.

5. See the following illustration.
Illustration:
1. The sum of 20 and 12 is
(a) 32    (b) 38    (c) 31    (d) 34
The Correct answer of item 1 is (a), which should be 
marked in OMR Answer Sheet as under:

   1

6. Half filled, faintly darkened, ticked or crossed circles will be 
read as wrong answers by the optical scanner and will be 
marked as incorrect.

7. The Booklet and OMR Answer Sheet must be handed over 
to the Invigilator before the candidate leaves the 
Examination Hall. No page(s) should be torn out from the 
booklet.

 8. Keep OMR Answer Sheet straight. Do not fold it.

9. All questions are compulsory, each question carries one 
mark and there is NO negative marking.

10. Use of calculator/mobile/ any electronic item/objection 
material is NOT permitted. 

Controller of Examinations 

Candidate is required to write his/her Roll Number in (i) this 

b c d

1.

·ë¤ÂØæ ÙæðÅU ·¤ÚÔ´U ç·¤ ¥Íü çßÖðÎ / ÎéçßŠææ ·¤è çSÍçÌ ×ð´ ¥´»ýÊæè ×ð´ ÀUÂð ÂýàÙ ·¤æð ¥´çÌ× ×æÙæ Áæ°Ð

çãU×æ¿Ü ÂýÎðàæ ·ð¤‹ÎèØ çßàßçßlæÜØý
CENTRAL UNIVERSITY OF HIMACHAL PRADESH

Âýßðàæ ÂÚUèÿææ/Entrance Test - 2016

¥ŠØØÙ ·¤æØü·ý¤×/Programme of Study : °×°ââè (ÂØæüßÚU‡æ çß™ææÙ)/MSc (Environmental Science)



¥ÙéÖæ»-·¤

1 ^^oLrq dk nzO;eku mldh tM+rk dk ek=kRed ekin.M gS**A 
U;qVy dk dkSu lk flnkUr gS \
d- igyk
[k- nqljk
x- rhljk
/k- pkSFkk

2 ,d oLrq ftldk Hkkj W gS] dks Nr okys ia[ksa ds lkFk ,d 
jllh ftldk Hkkj R gS] ds lkFk yVdk;k x;k gS  
fdrus cy ls Nr jLlh dks [khpsxh \
d- w+r

[k- w-r

x- w                                                  
?k- r

3 isVksfy;e rFkk izkdfrd xSl D;k gS \
d- ukfHkdh; bZa/ku
[k- fo/kqrh; baZ/ku
x- vkosx’khy baZ/ku
?k- tho’e bZa/ku

4 rkieku ess of) ds lkFk ikuh dk lrg ruko ---------------------
d- ?kVrk gS
[k- c<rk gS 
x- fLFkj jgrk gS
?k- mijksDr lHkh

5 ,d v.kq dh xfrt mtkZ fuEu esa ls fdl ij fuHkZj djrh gsS \ 
d- eksyl (Moles) dh la[;k
[k- rkieku
x- vk;ru
?k- nckc

6 ,d cUn lfdZV esa lHkh laHkkfor (Potential) ifjorZuksa dk 
;ksx jU; gksrk gS ;g dFku fdlls lEcfU/kr gS \ 
d- fdjpkQ (Kirchoff) dk igyk fu;e
[k- fdjpkWQ dk nwljk fu;e
x- DykstzM (Closed) flLVe
?k- vkblksysfVM (Isolated) flLVe

SECTION- A

1 Mass of object is quantitative measure of its 

inertia; stated law is Newton's-

a. First law

b. Second law

c. Third law

d. Fourth law

2 A body of weight W is suspended with the 

rope of weight R with the ceiling fan. The 

ceiling pulls the rope by a force of-

a. W+R

b. W-R

c. W

d. R

3 The petroleum and natural gas are the-

a. Nuclear fuel

b. Electrical fuel

c. Impulsive fuel

d. Fossil fuel

4 With the increase in temperature, the  

surface tension of water-

a. Decrease

b. Increase

c. Remain constant

d. All of the above

5 The kinetic energy of a molecule depends on 

which one of the following?

a. Number of moles

b. Temperature

c. Volume

d. Pressure

6 The statement “The sum of all potential 

change in a closed circuit is zero” is concerned 

with which one of the following?

a. Kirchhoff's first rule

b. Kirchhoff's second rule

c. Closed system

d. Isolated system
2.
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7 The metals can transmit which types of waves?

a. Radio waves

b. Microwaves

c. X-rays

d. None of the above

8 The highest energy transmission is 

represented by the wavelength-

a. 350nm

b. 450nm

c. 550nm

d. 200nm

9 The lines which appear in emission and 

absorption spectrum are-

a. Different

b. Same

c. Both of above

d. None of the above

10 Which types of rays are produced from 

electrons?

a. Gamma rays

b. X-rays

c. Beta rays

d. All of the above

11 When an object undergoes acceleration

a. Its speed always increases

b. Its velocity always increases

c. It always falls towards the earth

d. A force must be acting on it

12 For which of the following substances, the 

internal energy and enthalpy are the 

functions of temperature only 

a. Saturated steam

b. Water

c. Perfect gas

d. Superheated steam

7 /kkrq, fdl izdkj dh rajxksa dks lapkfjr djrh gS \

¼d- jsfM;ks rjaxs

¼[k- ekbdz ksa rjaxs

x- ,Dl js

?k- mijksDr esa ls dksbZ ugha

8- mPpre mtkZ lapkj.k esa rjax yEckbZ D;k gksxh \

d- 350 nm

[k- 450 nm

x- 550 nm

?k- 200 nm

9 mRltZu (Emission) vkSj vo’kks"k.k LisDVªe esa fn[kus okyh 

ykbusa------------------------------gksrh gS A

d- vyx&vyx

[k- ,d tSlh

x- mijksDr nksuksa

?k- mijksDr esa ls dksbZ ugha

10 bySDVªkuksa ls fdl izdkj dh fdj.ksa iSnk gksrh gS \ 

d- xkek fdj.ksa 

[k- ,Dl fdj.ksa

x- chVk fdj.ksa

/k- mijksDr lHkh

11 tc ,d oLrq Roj.k esa vk tk;s rks 

d- bldh xfr ges’kk c<+rh gS                                

[k- bl dk csx ges’kk c<+rk gS 

x- ;g ges’kk /kjrh dh vksj fxjrh gS                           

?k- blds Åij cy yxuk pkfg;sa

12- fuEu inkFkksZa esa fdldh vkarfjd mtkZ vkSj rkih; /kkfjrk 

dsoy rkieku }kjk fu/kkZfjr gksrh gSA

d- lar`Ir Hkki

[k- ikuh

x- ijQSDV xSl

?k- vfrrkfir Hkki
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13 Which one of following has lowest 

frequency?

a. Radio waves

b. Infrared

c. Ultraviolet

d. Gamma rays

14 Water vapour  absorbs radiation strongly in 

the _____ portion of the spectrum

a. Visible 

b. UV

c. Longwave IR 

d. µ waves 

15 What is the SI unit for Stefan-Boltzmann 

constant (σ)?

a. W / m K4

b. W / m2 K4

c. W / K4

d. W K4 / m2

13 fuEu esa ls fdldh vko`fr lcls de gS \

d- jsfM;ksa rjaxs

[k- buQjkjsM rjaxs

x- ijkcSxuh rjaxs

?k- xkek fdj.ks 

14 ty ok"Ik] LiSDVªe ds fdl Hkkx esa vf/kd fofdj.k 

vo’kksf"kr djrs gS \

d- xksPkj (visible)

[k ;woh (ultraviolet)

x- nk/kZZ rjaxs vkbvkj (long wave IR)

?k- µ rjaxs

15 LVhQu cksYVteku dkalVsV ¼(U)½ dh ,l vkbZ bdkbZ D;k 

gS\

d- w/mk4

[k- w/m2k4

x- w/m4

?k- w/m4/m2
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16 fuEu esa ls dkSu Øfed fodkl ¼Evolution½ dh tSfod 
bdkbZ gS\
d- tula[;k
[k- tho ¼organism½ 
x- dksf'kdk
?k- leqnk;

17 xSehVksfQfVd Qst ¼Gametophytic phase½---------
-------------------ds thou pØ esa izcy ¼dominant½ 
gksrk gSA
d- vuko`rchth ¼Gymnosperms½
[k- vko`rchth ¼Angiosperms½
x- czk;ksQkbVl ¼Bryophytes½
?k- VsfjMksQkbVl ¼Pteridophytes½

18 izdk'k&la'ys"k.k esa fuEu esa ls dkSu xSj pØh; bySDVªku 
VªkaliksjV esa fyIr gksrk gS\
d- QksVksflLVe&I
[k- QksVksflLVe&II
x- QksVksflLVe&I vkSj II
?k- QksVksflLVe&III

19 fuEu esa ls dkSu eq[;r% cSDVhfj;k esa gksrk gS rFkk de jks'kuh 
vkSj CO  xSl dks de miyC/krk esa lapkfyr gksrk gSA2

d- uku lkbdfyd QksVksQkLQksjkbys'ku
[k- uku lkbdfyd rFkk lkbdfyd QksVksQkLQksjkbys'ku 

nksuksa
x- íne lkbdfyd QksVksQkLQksjkbys'ku
?k- lkbdfyd QksVksQkLQksjkbys'ku

20 fuEu esa ls dkSu lk C  ikS/kk gS\4

d- pkSykbZ ¼Amaranthus½
[k- vkjVhiySDl ¼Artyplex½
x- eDdh ¼Zea mays½
?k- mijksDr lHkh

21 Økat ¼Kranz½ lajpuk fdldh fo'ks"krk gS\
d- C ikS/ks4  

[k- C ikS/ks3  

x- nksuksa C rFkk C ikS/ks4 3    

?k-  lHkh gjs ikS/ks

SECTION-B

16 Which of the following is the biological unit of 

evolution?

a. Population

        b. Organism

        c. Cell

        d. Community

 

17 Gametophytic phase is dominant in the life 

cycle of:

a. Gymnosperms

        b. Angiosperms

        c. Bryophytes

        d. Pteridophytes

18 In photosynthesis, which of the following is 

involved in non-cyclic electron transport only?

a. Photosystem-I

        b. Photosystem II

        c. Photosystem I and II

        d. Photosystem III

19 Which of the following occurs dominantly in 

bacteria and operates under low light 

intensity and poor CO2 availability?

a. Non-Cyclic Photophosphorylation 

b. Both non-Cyclic and Cyclic 

Photophosphorylation

c. Pseudo-cyclic photophosphorylation

d. Cyclic Photophosphorylation

20 Which of the following is a C4 Plant? 

a. Amaranthus 

b. Atriplex

        c. Zea mays

        d. All the above

21 Kranz anatomy is the characteristic feature of: 

        a. C4 plants 

        b. C3 plants

        c. Both C3 and C4 plants

d. All green plants
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22- idlhfu;k ¼Puccinia½ ,d BsB eSØkslkbdfyd 
gsVjksf'k;l ¼Heterocious½ jrqvk ¼Rust½ jksx djus 
okyk jksxk.kq gSA fuEu esa ls dkSu lk ikS/kk bldk oSdfYid 
estcku gS\
d- xsgwa
[k- eDdk
x- VekVj
?k- nk:gYnh ¼Barberry½ 

23 fuEu esa ls fdu chtk.kqvksa ds mRiknu ds fy;s idlhfu;k 
¼Puccinia½ dk s ikz Fkfed ets cku dh vko';drk ugh gkrs h\
d- ;wjksfMfu;ksLiksjl
[k- Vhfy;ksLiksjl
x- ,fl;ksLiksjl
?k- csflfM;ksLiksjl

24 dySekbMkseksukl ¼Chlamydomonas½ esa dkSu lk Hkkx 
,d dsUnz ds :i esa dke djrk gS ftlds pkjksa vksj LVkpZ 
¼Starch½ curk gS\

 d- cysQsjksiyklV ¼Blepharoplast½
[k- FkkbykdksbM ¼Thylakoides½
x- LVhxek ¼Stigma½
?k- ikbjhukWbM ¼Pyrenoid½

25 ikS/ksa esa dksysudkbek ¼Blepharoplast½ eksVh nhokj okyh 
dksf'kdkvksa ls curk gSA ;g eksVkbZ --------------- ds teus 
ds dkj.k gksrh gSA
d- iSdfVu ¼Pectin½
[k- fyxfuu ¼Lignin½
x- iSdfVu rFkk fyxfuu ¼fefJr½
?k- lsY;wykst ¼cellulose½

26 fuEu esa ls dkSu lk ikS/kk ePNjksa ds iztuu dks jksdrk gS\
d- czkbe ¼Bryum½
[k- vkWleqaMk ¼Osmunda½
x- ekjhfy;k ¼Marilea½
?k- vktksyk ¼Azolla½

27 fuEu esa ls dkSu lk ikS/kk feVVh esa [kfut ek=k ds lwpd ds 
:i esa iz;ksx fd;k tkrk gS rFkk u;s v;Ld HkaMkj dk irk 
yxkus esa ;ksxnku nsrk gS\
d- bD;wlhVe lihbt ¼Equisetum spp.½
[k- ykbdksiksfM;e lihbt ¼Lycopodium spp.½
x- VsjhfM;e lihbt ¼Pteridium spp.½
?k- Vsfjl lihbt ¼Pteris spp.½

22 Puccinia is typical macro cyclic, heterocious 
rust causing pathogen.  Which of the 
following plants is its alternate host?
a. Wheat 

        b. Maize
        c. Tomato
        d. Barberry

23 For the production of which of the following 
spores, Puccinia does not require Primary host?
a. Urediniospores

        b. Teliospores
        c. Aeciospores
        d. basidiospores

24 In Chlamydomonas, which of the following 
structures functions as a centre around which 
starch is formed? 
a. Blepharoplast 

        b. Thylakoides
        c. Stigma
        d. Pyrenoid

25 Collenchyma in plants consists of thick walled 
cells and the thickening is due to the 
deposition of:
a. Pectin 

        b. Lignin
        c. Pectin and lignin mixed
        d. Cellulose

26 Which of the following plants checks the 
breeding of mosquitoes?
a. Bryum 
b. Osmunda
c. Marilea
d. Azolla

27 Which of the following plants has been used 
as indicators of mineral contents of the soil in 
which they grow and are thus, of value in 
prospecting for new ore deposits?
a. Equisetum spp. 
b. Lycopodium spp.
c. Pteridium spp.
d. Pteris spp.
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28 Which of the following region has maximum 

diversity?

a. Mangroves

b. Temperate rain forest

c. Taiga

d. Coral reefs

 

29 At which of the following sub stages of 

meiotic cell division, Synaptenemal complex 

formation is known to occur?

A. Leptotene 

b. Zygotene

c. Pachytene

d. Diplotene

30 An International treaty designated to protect 

wi ldl i fe  from being threatened by 

international trade was set up in 1975, it is 

known as-

a. WTO 

b. IUCN

c. CITES 

d. FAO

28 fuEu esa ls fdl {ks= esa lcls vf/kd fofo/krk gS\

d- eSaxzkso ¼Mangroves½

[k- 'khrks".k o"kkZ ou

x- VSxk ¼Taiga½

?k- izoky fHkfÙk;ka ¼Coral reefs½

29 fe;kfVd ¼Meiotic½ dksf'kdk foHkktu ds dkSu ls mi pj.k 

esa flukiVsuey dkEiySDl ¼synaptenemel 

complex½ curk gS\

d- ysIVksVhu ¼Leptotene½

[k- tkbxksVhu ¼Zygotene½

x- iSdhVhu ¼Pachytene½

?k- fMIyksVhu ¼Diplotene½

30 taxyh thoksa dks vUrjkZ"Vªh; O;kikj ds [krjksa ls cpkus ds 

fy;s 1975 esa dh xbZ vUrjkZ"Vªh; laf/k dks dgk tkrk gS%

d- McY;w Vh vks ¼WTO½

[k- vkb ;w lh ,u ¼IUCN½

x- lh vkb Vh b ,l ¼CITES½

?k- ,Q , vks ¼FAO½
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31 fuEu esa ls dkSu ls i;kZoj.k dkuwuksa dh Hkkjr esa deh gS\

d- j{kkRed ¼Protective½

[k- ;kstuk ¼Planning½

x- fuokj.k ¼Preventive½

?k- mijksDr lHkh

32 jk"Vªh; tSo fofo/krk izkf/kdj.k dh LFkkiuk fdl o"kZ gqbZ\

d- 2002

[k- 2001

x- 2004

?k- 2003

33 fuEu dkuwuksa esa ls fdls chloha 'krkCnh ds izFke n'kd esa 

vf/kfu;fer fd;k x;k\

d- caxky /kqavk ijs'kkuh vf/kfu;e

[k- [kku ,oa [kfut ¼Reg. & Dev½ vf/kfu;e

x- dkj[kkuk vf/kfu;e

?k- izkphu Lekjd ,oa iqjkrRo LFky vkSj vo'ks"k vf/kfu;e

34 i;kZoj.k ¼laj{k.k½ vf/kfu;e fdl o"kZ vfLrRo esa vk;k\

d- 1971

[k- 1981

x- 1984

?k- 1986

36 Cr O esa Øksfe;e (Cr) dk vkDlhdj.k uacj D;k gS\5  

d 10

[k 8

x mijksDr nksuksa

?k mijksDr esa ls dksbZ ugha

35 tehuh Lrj ij vkstksu ¼O ½ gS%3

d- izkFkfed iznw"kd

[k- ek/;fed iznw"kd

x- izkd`frd iznw"kd

?k- mijksDr esa ls dksbZ ugha

SECTION-C

31 Which of the following Environmental 

legislations is almost lacking in India?

a. Protective    

b. Planning        

c. Preventive                         

d. All these

32 National Biodiversity Authority (NBA) was 

established in the year:

a. 2002           

b. 2001         

d. 2004       

d. 2003

33 Which of the these legislations was enacted 

in the first decade of 20th century

a. Bengal Smoke Nuisance Act.      

b. The Mines & Minerals (Reg. & Dev.) Act

c. The Factories Act                    

d. Ancient Monuments & Archeological 

Sites and Remains Act

34 The Environment (protection) Act came into 

existence in the year:

a. 1974                              

b. 1981                  

c. 1984                                     

d. 1986

35 Ground level Ozone is

a. Primary pollutant

b. Secondary pollutant

c. Natural pollutant

d. None of the above

36  Oxidation no. of Cr in CrO5?

a. +10

b. +8

c. Both of above

d. None of above



9.

37 Oxidation no. of S in S2O82- ion ?

a. +6

b. +7

c. +5

d. +None

38 In Metal poisoning which chelate is used?

a. Ethylenediamine

b. Nickel- DMG

c. EDTA

d. None

39 In which thermodynamics process volume 

remains constant?

a. Isothermal process

b. Adiabatic process

c. Isochoric process

d. Isobaric process

40 The heat constant of a system is called:

a. Internal energy

b. Enthalpy

c. Free energy

d. Entropy

41 According to Law of mass action, for the 

reaction,  2x+y Product, which equation hold 

good?

a. Rate=K[x]2 [y]

b. Rate =K[x] [y]2

c. Rate =K[x] [y]

d. Rate =K[x] [y]1/2

42 The temperature at which a compound melts 

into a liquid of the same as the solid is called 

the:

a. Congruent Melting point

b. Incongruent melting point

c. Peritectic temperature

d. Metastable point

2-37- S O  vk;u esa S dk vkDlhdj.k uEcj D;k gksxk2 8

d- $6
[k- $7
x- $5
?k- dksbZ ugha

38 /kkrq fo"kkDrk esa fdl physV ¼chelate½ dk iz;ksx fd;k 
tkrk gS\
d- bFkkbyhuMkbvehu
[k- fudsy&Mh ,e th ¼Nickel-DMG½
x- bZ Mh Vh , ¼EDTA½
?k- dksbZ ugha

39 fuEu esa ls fdlesa vk;ru fLFkj jgrk gS\
d- lerkih; izfØ;k ¼Isothermal process½ 
[k- leks".k izfØ;k ¼Aeliabatic process½
x- vkblksdksfjd izfØ;k ¼Isochoric process½
?k- vkblksckfjd izfØ;k ¼Isobaric process½ 

40 fdlh flLVe esa m"ek rRo ¼Heat content½ dks D;k dgrs 
gSa\
d- vkarfjd ÅtkZ ¼Internal Energy½
[k- rkih; /kkfjrk ¼Enthalpy½
x- Ýh mtkZ ¼Free Energy½
?k- ,aVªkWih ¼Entropy½

41 ykW vkQ ekl ,D'ku ¼Law of mass action½ ds vuqlkj 
2x+y -> izkMDVl ¼Products½ izfØ;k ds fy;s fuEu esa ls 
dkSu lgh gS\

2d- jsV = K [x]  [y]
 2[k- jsV = K [x] [y]

x- jsV = K [x]  [y]
1/2 ?k- jsV = K [x] [y]

42 ftl rkieku ij dksbZ ;kSfxd fi?ky dj rjy cu tkrk gS 
rFkk ;kSfxd dh jpuk Bksl rFkk rjy fLFkfr esa ,d tSlh gks 
rks ml rkieku dks D;k dgrs gS\
d- dkaxzq,aV ¼Congruent½ xyukad
[k- budkaxzq,aV ¼Incongruent½ xyukad
x- isjhVsdfVd ¼Peritectic½ xyukad
?k- esVkLVscy ¼Metastable½ xyukad
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43 The number of phases of a mixture of four 

gases enclosed in a container is:

a. 4

b. 3

c. 1

d. 0

44 In terms of phases (P), components (C) and 

degrees of freedom (F), the phase 

      rule is expressed as:

a. P+C=F+2

b. F= P+C-2

d. P+F = C+2             

d. P-F= C+2

45 When a strong acid is titrated against a strong 

base the end point is the point of:

a. Zero conductance

b. Maximum conductance

c. Minimum conductance

d. none of these

43 ,d crZu pkj xSlksa esa feJ.k esa fdruh voLFkk;sa 

¼phases½ gksaxh\

d- 4

[k- 3

x- 1

?k- 0

44 Qst fu;e ¼Phase rule½ dks Qst ¼P½ dEiksusaV ¼C½ rFkk 

fMxzh vkQ ÝhMe ds lkFk dSls fy[kk tkrk gS\

d- P+C = F+2

[k- F = P+C - 22

x- P+F = C+2

?k- P - F = C+2

45 ,d izcy vEy dks ,d izcy{kkj ds lkFk VkbVªsV fd;k tkrk 

gS rks vUr fcUnw ¼End point½-------------- dk fcUnw gksxk

d- 'kwU; izokgdÙo

[k- vf/kdre izokgdÙo

x- U;wure izokgdÙo

?k- mijksDr ls dksbZ ugha
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46 i`Foh ds vUnj fi?kyh gqbZ pVVku dks D;k dgrs gSa\

d- ykok

[k- eSxek

x- Tokykeq[kh

?k- cklkyV ¼Basalt½

47 -----------------  dks vkx dk NYyk ?ksjs gq;s gSaA

d- iz'kkar egklkxj

[k- fgUn egklkxj

x- vVykafVd egklkxj

?k- vjc lkxj

48 HkwdEi dh rhozrk--------------- ls ekik tkrk gSA

d ekWgl iSekuk

[k feysfu;e iSekuk

x fjDVj iSekuk

?k ejdyh iSekuk

49 fuEu esa ls dkSu :ikarfjr pVVku ugha gSA

d- QkbZykbV ¼Phyllite½

[k- ekjcy ¼Marble½

x- 'khLV ¼Schist½

?k- pwus dk iRFkj

50 xkusZaV ¼Garnet½---------------gSA

d- pVVku

[k- [kfut dk leqg

x- lajpuk

?k- thok'e

51 thok'e vkerkSj ij --------------- ds lkFk tqMs gksrs gSaA

d- volknh pVVku

[k- :ikarfjr pVVku

x- vkXus; pVVku

?k- Tokykeq[kh pVVku

SECTION-D

46 Molten rock inside the earth is known as 

a. Lava 

b Magma 

c. Volcano 

d. Basalt 

47 The ring of fire surrounds 

a. The Pacific Ocean 

b. The Indian Ocean 

c. The Atlantic Ocean 

d. The Arabian Sea 

48 The intensity of earth quake is measured by 

a. Mohs scale 

b. Millennium scale 

c. Richter scale 

d. Mercalli scale 

49 Which of the following is not a metamorphic 

rock? 

a. Phyllite 

b. Marble 

c. Schist 

d. Limestone 

50 Garnet is a 

a. Rock 

b. Group of Minerals 

c. Structure 

d. Fossil

51 Fossils are commonly found in association with 

a. Sedimentary rock 

b. Metamorphic rock 

c. Igneous rock 

d. Volcanic rock 
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52. How do temperature and pressure vary with 
depth inside the earth?
a. Temperature and pressure both increase with 
depth 
b. Temperature and pressure both decrease 
with depth 
c. Temperature increases with depth and 
pressure decreases with depth 
d. Temperature decreases with depth and 
pressure increases with depth 

53 The average geothermal gradient is 
a. 1 °C/km 
b. 10 °C/km 
c. 25 °C/km 
d. 50 °C/km

54 If sea level rises for a longer timescale, what is 
likely to occur? 
a. Flood 
b. Transgression 
c. Regression 
d. Tide

55 Taj Mahal is made up of which of the 
following rocks? 
a. Sedimentary rock 
b. Metamorphic rock 
c. Igneous rock 
d. Volcanic rock 

56 The age of earth is about _____ years old
a. 4 billion 
b. Less than 100,000 million 
c. Over 10 billion years old 
d. Less than 10,000 million 

57 Which one of the following is in correct 
sequence that explains O2 buildup in the 
earth's early atmosphere
a. Condensation of water, appearance of 
life, weathering
b. Appearance of life, condensation of 
water, weathering 
c. Weathering, condensation of water, 
appearance of life
d. Condensation of water, weathering, 
appearance of life

52 i`Foh ds vUnj] rkieku rFkk ncko xgjkbZ ds lkFk dSls 

cnyrs gSa\

d- rkieku rFkk ncko nksuksa xgjkbZ ds lkFk c<rs gSaA

[k- rkieku rFkk ncko nksuksa xgjkbZ ds lkFk ?kVrs gSaA

x- xgjkbZ ds lkFk rkieku c<+rk gS vkSj ncko ?kVrk gSA

?k- xgjkbZ ds lkFk rkieku ?kVrk gS vkSj ncko c<+rk gSA

53- vkSlr Hkwrkih; mrkj p<ko------------- gSA
0d- 1  lsYfl;l @fd-eh-

0[k- 10  lsYfl;e @ fd-eh-

x- 25 lsyfl;l@fd-eh-
0

?k- 50  lsYfl;e @ fd-eh-

54 vxj yEcs le; rd leqUnz dk Lrj c<+rk gS rks D;k gks 

ldrk gS\

d- ck<

[k- Vªkalxjs'ku

x- jhxzs'ku

?k- Tokj HkkVk

55 rktegy fuEu esa ls fdl pVVku dk cuk gS\

d- volknh pVVku

[k- :ikarfjr pVVku

x- vkXus; pVVku

?k- Tokykeq[kh pVVku

56 i`Foh dh vk;q yxHkx ------------- o"kZ gSA

d- 4 vjc

[k- 10000 djksM ls de

x- 10 vjc ls vf/kd

?k- 1000 djksM ls de

57 i`Foh ds ok;qe.My eas vkDlhtu ds fuekZ.k ds fy;s fuEu esa 

ls dkSu lk lgh Øe gSA

d- ikuh dk la?kuu thou dh mifLFkfr vi{k;

[k- thou dh mifLFkfr] ikuh dk la?kuu] vi{k;

x- vi{k;] ikuh dk la?kuu] thou dh mifLFkfr

?k- ikuh dk la?kuu] vi{k;] thou dh mifLFkfr
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58 Which one of the following is NOT 

responsible for earth's internal energy 

a. Gravitational pull 

b. Nuclear fusion  

c. Nuclear fission 

d. Accretion 

59 Youngest basaltic rocks will be along the  

_____

a. Continental slope 

b. Atoll 

c. Mid oceanic ridge 

d. Young fold mountains  

60 Wind blown deposits are known as _____ 

deposits 

a. Fluvial 

b. Sedimentary 

c. Aeolian 

d. Alluvial 

58 fuEu esa ls dkSu i`Foh dh vkarfjd ÅtkZ ds fy;s ftEesnkj 
ugha gS\
d- xq:Roh; f[kapko
[k- ukfHkdh; lay;u
x- ukfHkdh; fo[kaMu
?k- vuqo`f) ¼Accretion½

59 lcls de mej dh cslkYV pVVkusa -----------------ds lkFk 
ikbZ tkrh gSaA
d- egk}hih; <yku ¼Continental slope½
[k- ,Vky ¼Atoll½
x- e/;egklkxjh; fjt ¼Mid oceanic Ridge½
?k- ;ax QksYM igkM ¼Young Fold Mountains½

60 gok ls mM+h gqbZ xkn-------------- xkn ds :i esa tkuh 
tkrh gSA
d- unh&lacU/kh ¼Fluvial½
[k- ryNV ds :i esa tek gqbZ ¼Sedimentary½
x- okrt ¼Alolian½
?k- dNkjh ¼Alluvial½
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